
2015



MANUFACTURED BY:                        .COM
PHONE: 1-877-873-5858    FAX: 1-712-224-5604

TA
B

LE
 O

F 
C

O
N

T
E

N
T

S

INTRODUCTION 1

INSTALLATION AND SAFETY
SWITCH MAINTENACE
SWITCH OPERATION PROCEDURE
SWITCH SAFETY
WARRANTY
IDFI SWITCH ORDERING IDENTIFICATION GUIDE SHEET 1
IDFI SWITCH IDENTIFICATION GUIDE SHEET 2
IDFI SWITCH STANDARD DIMENSION GUIDE SHEET 3
IDFI SWITCH STANDARD DIMENSION GUIDE SHEET 4
BRIDGE HEIGHT AND ELEVATION CHANGE GUIDE SHEET 5
GEAR SWITCH

G1R*L
G1R*D
G1L*L
G1L*D
G2R*L
G2R*D
G2L*L
G2L*D
G3R*L
G3L*L
G4R*L
G4L*L

AUTOMATIC AND FEEDOUT SWITCH
A1R*L - F1R*L
A1R*U - F1R*U
A1L*L - F1L*L
A1L*U - F1L*U
A2R*L - F2R*L
A2R*U - F2R*U
A2L*L - F2L*L
A2L*U - F2L*U
A3R*L - F3R*L
A3L*L - F3L*L

AUTOMATIC POWER CORNER SWITCH
AC1R*L - FC1R*L
AC1L*L - FC1L*L

DIVERT SWITCH
D1R*L
D1R*D
D1R*U
D1L*L
D1L*D
D1L*U
D2R*L
D2R*D
D2R*U
D2L*L
D2L*D
D2L*U

SINGLE GATE FEEDOUT SWITCH
S1R*L
S1L*L
S2R*L

CUT THROUGH SWITCH
C0X*L

TROLLEY TURN AROUND
TROLLEY TURN AROUND

SWITCH TURNBUCKLE CHART

Table Of Contents

2

11

10

9

8

7

6

5

4

3

13

27

14
15
16

21

17
18
19
20

25

22
23
24

29
30
31
32
33
34
35
36
37
38
27
39
40

42

49

44

48

50

47
46

51
52

45

53

43

41

55

59

61

63

56
57
58

60

62



MANUFACTURED BY:                        .COM
PHONE: 1-877-873-5858    FAX: 1-712-224-5604

N
O

T
E

S



MANUFACTURED BY:                        .COM
PHONE: 1-877-873-5858    FAX: 1-712-224-5604

TA
B

LE
 O

F 
C

O
N

T
E

N
T

S

101508 

IDFI Inc. 
Industrial Design Fabrication and Installation Inc. 
 
Our highly professional design, build, and installation team offers a unique 
opportunity for your business.  We offer the latest in innovation and state-of-the-
art Hercules® rail switches. This is the newest switch on the market and we are 
confident you will like our new design. If what we currently have doesn’t meet 
your needs, we will custom design and create the switches that will work best in 
your operation. 
 
A few of the unique advantages of Hercules® switches that you won’t find 
anywhere else: 
 

� New simple design to minimize the number of moving parts and potential 
issues in the switching mechanism. 

� Replacement parts are precision CNC machined and laser cut to ensure 
precise repeatability. 

� Upright/Bridge assembly features a new technique to significantly increase 
strength of the weld. 

� Rails are laser cut from abrasive resistant material that is stronger than 
standard rail.* 

� Innovative design with extra reinforcement at the gate location, and 
heavier and thicker parts and components, reinforce the strength of the 
Hercules® Switch.   

� Heavier standard load rating compared to other switches on the market. 
� Removable, replaceable pin and pin assembly featured on all automatic 

and similar gates. 
� One or more products in this catalog may be covered by United States 

Patents or Pending Patent Applications, including U.S. Patent Nos. 
7,992,828; 8,011,304;   

 

* Zinc and Black Switches Only 
   Stainless Switches are 304 Stainless Steel 1



092909 

�
���������������������������������

�
������������������������������������������������������������
����������
�������������
�
���������������������������������������������������������������������������������
���������
��������������������
������������������������������	�������������������������������������
�����������������������������������������������	�����������������������������������
������������������
�����������������	�������������
	�����������
	�	����
����������
�
	���	���������� ���­�����������
	���	��������� �����������­����������	��
��
	�� ���
�����	�����	�
���
�����������
	�����	���	������	
���
�������	�������
��	��	
�������������� �
�
��������������	������
	��������������������
	����������	������������	
�
���
��������
��������������
	��� � � �� � � ����	��	���
	
�� ���������������
�	�
�������	������
	����������������������
	������������	������������	
�
���
��������
��������������
	��� � � �� � �����	��	���
	
�� �
�
��������������
�������
���	��������������
��
�������������������	���������������
������������

���������������������������������������������������� �
����������������������������������
���
���������������������	���������������������
��������������������������	����������	�����������������������������������	������
�������
�����	�������
��������������������������������
�
����������������
���������������������������������������������
�������������
�����������
�����
������������	���������������������������������
����������������������������������������
������������­�����������������	
��������
	�� �������
����������	
���
�����������	�
����
	�����
���������	���������
����
����� �
����������������������������������
�������������
����������������������������������������������������
�����������	��
��������������������
�����������	����������������������
���	�������
�����������
������������������������������������������������ ����������������������������
�
�������������������������	����
�����	.  ­��	���������������������������������
�������������	����������
������������

                                                    

 ����

�����������������
����
	�����

MANUFACTURED BY:                        .COM
PHONE: 1-877-873-5858    FAX: 1-712-224-5604

IN
S

TA
LL

A
T

IO
N

 S
A

FE
T

Y
 I

N
S

T
R

U
C

T
IO

N
S

2



MANUFACTURED BY:                        .COM
PHONE: 1-877-873-5858    FAX: 1-712-224-5604

S
W

IT
C

H
 M

A
IN

T
E

N
A

N
C

E

3101608

SWITCH MAINTENANCE 
Develop and follow a program to train all employees and contractors in contact 
with the switches in safe operation and maintenance requirements. 

Inspect operation of switches weekly to determine that all parts are in good 
condition, all fasteners are properly tightened, and all moving parts are properly 
lubricated, and operating freely. 

Immediately replace all parts that become even slightly worn or damaged.  
Failure to follow this requirement could cause excessive wear to non-replaceable 
parts.

If necessary, lubricate all pivot points weekly with small amounts of food-safe 
lubricant.  Remove excess lubricant with rag. 

The HERCULES Rail Switch
®



MANUFACTURED BY:                        .COM
PHONE: 1-877-873-5858    FAX: 1-712-224-5604

S
W

IT
C

H
 O

P
E

R
A

T
IO

N
 P

R
O

C
E

D
U

R
E

4
101508

SWITCH OPERATION PROCEDURE 
Before operating any switch, operator should visually inspect switch to ensure it 
appears to be in normal operating condition and gates set into their pockets and 
align with rail.  Product should be moved into and through the switch no faster 
than a normal walking pace.  Never allow more than one trolley at a time to 
move across any switch.  

Automatic, Feedout, and Single Gate Feedout Switches should only have product 
converging from two rails to one rail. It is never recommended to run product in 
a diverging direction (from one rail to two separate rails). 

Gear operated switches are not recommended for powered conveying systems as 
they could cause product to drop and potential injury to operator or others in the 
area. Gear operated switches are recommended for manually moving trolley 
across the switch. Gear switches may be operated in a converging or diverging 
direction.  Only switch gates before trolley is introduced to the gear switch. 
Never switch gates with trolley on the gear switch.  

Divert switches are designed to move trolleys in a diverging direction. Only 
switch gates before trolley is introduced to the divert switch. Never switch gates 
with trolley on the divert switch. 

� One trolley at a time should be moved over a switch at a normal walking 
speed.  Always push trolleys through a switch, DO NOT pull a trolley 
through a switch. 

� When approaching the switch with a loaded trolley from the diverging 
direction, visually determine that lift pieces are positioned to allow trolley 
to move in the desired direction and that the down piece is properly 
seated.  If necessary, move operating arm to reposition lift pieces to 
accommodate desired trolley travel. 

� The automatic switch eliminates the manual operation in gathering to a 
common headrail (converging).  The weight and forward motion of an 
approaching trolley along either rail activates the switch, if necessary, 
closing one rail and opening another. 

� Never push or convey a trolley onto or over a raised lift track piece of a 
switch while a trolley is resting on or moving over the other lift track piece 
of the same switch. 

� If gear operated conveyor switches (not recommended for conveyorized 
systems) are used, special care must be taken if the switch is activated 
while conveyor is moving so drop finger will not come into contact with 
lifting track piece. 

The HERCULES Rail Switch
®



MANUFACTURED BY:                        .COM
PHONE: 1-877-873-5858    FAX: 1-712-224-5604

S
W

IT
C

H
 S

A
FE

T
Y

5
101408

SWITCH SAFETY 

IDFI Inc.  Hercules® switches will operate safely when installed properly and 
used for their designed purpose. If not installed by the manufacturer, purchaser 
must ensure the switch is correctly installed for its intended use. The purchaser 
is responsible for training operators in the safe and effective operation and 
maintenance of all Hercules® switches.  Purchaser is responsible for reviewing 
the operator’s performance periodically to ensure safe operation of the switches. 
The purchaser must periodically review operation of equipment to ensure it is 
functioning normally and safely.  IDFI inc. recommends a weekly inspection by a 
competent person of both equipment and its operation. 

All employees, contractors, or anyone working in and around the areas where 
track and switches are used, MUST be properly trained in the safe operation and 
maintenance of switches prior to their use.  

Follow these important safety rules to protect employees from injury and avoid 
loss of product or manufacturing down time:  

� WARNING:  Never exceed load rating of switch. Exceeding load 
rating could result in switch failure, death, or serious injury. 

� Always wear eye and head protection when working under and around 
switches.

� To avoid metal particles coming loose or trolleys leaving the track, product 
should never move faster than a walking pace across switch.  Product 
must hang directly under the rail and should never be pushed, pulled or 
swung excessively. 

� Trolley stops are designed to stop one trolley rated load at a walking 
pace.  Never push product into stops with powered buggy or other power 
pushers.

� No person should ever swing from switches, or use overhead switches to 
support or transport people. 

� Before working on switches, always ensure any overhead power 
conveyors, air or hydraulic cylinders, or any other power sources attached 
to or around switches are locked out. 

� Switching gates must only be done with no trolleys on the switch. 

� Only allow one trolley on a switch at a time. 

The HERCULES Rail Switch
®



MANUFACTURED BY:                        .COM
PHONE: 1-877-873-5858    FAX: 1-712-224-5604

W
A

R
R

A
N

T
Y

6 090809 

���������
�

��������������������������������
�������������
���	����
������������������������
���������������������
�����������������������	������������������������������
��������������������������������������������	�����������������������������
���������������������
���
��������������������������������
�������������������
�
�����������������������
�������������	�����������������������������������������

�����������������������������������
������������������������������
���
��������
���������������������������������������������������������������������������������
�����������������������������������	�
�������������������

� ������������	��
� �������������������� �����������������
���
�������­�
� �������������������
� ������������������������
� �����������������

�
�������������������������������������
���
���������������������������������������
�������������������������������
������������������������������������������������
����������������������
������������������������������������
�����������������������
����������������
�
�������������������
�����������������������������������
����������������������
�����������������������
����������������
�����������������	�����������������
���������������������������������������
���
�����������������������������
�������������
�
������������������	���������������������������������������������������	����
���
�����������������������������������������������
������������������
�����������������
���������������
��������������������������������������������������������������
�
�����������������
�����
����������������������������������	������������	�
�������
�������������������������������	��������������������������������
�������������
��������������������������������������������������������������������������	��
���������������������������������������������������������������������������������
��������������������������������������������������������������������������������
����������������������������������������������������������������������������������
����������������������
���������
��������������������������������������������
�	��������
��������
�����������������������������������	���������������
��

�����	�����������������	�������	����
���������������������������
���	����
���������
����������������������
�
 

�����������������������������



MANUFACTURED BY:                        .COM
PHONE: 1-877-873-5858    FAX: 1-712-224-5604

S
W

IT
C

H
 O

R
D

E
R

IN
G

 G
U

ID
E

 S
H

E
E

T
 1

7



MANUFACTURED BY:                        .COM
PHONE: 1-877-873-5858    FAX: 1-712-224-5604

S
W

IT
C

H
 O

R
D

E
R

IN
G

 G
U

ID
E

 S
H

E
E

T
 2

8
101608

 The HERCULES Rail Switch 
IDFI SWITCH IDENTIFICATION GUIDE Sheet 2 

 

                                                  

Automatic Switch

Divert Switch

Feedout Switch

Gear Switch Cut Through Switch

Single Gate Feedout Switch

If product flows from the curve onto the 
straight rail (converging rails) and a 
selecting lever is required, an automatic 
switch is recommended.   

If a product flows from the curve onto 
the straight rail (converging rails), and 
no selecting levers are required, a 
feedout switch is recommended.   

If a product flows from the curve onto 
the straight rail (converging rails), or 
in a second legger application, a single 
gate feedout switch is recommended.   

Rail Extensions
Y = Length of Extension 
      of Straight Rail 
Z = Length of Extension 
      of Curved Rail 

When product comes from the straight 
rail and flows onto the curve (diverting 
rails) a gear switch is recommended. 

When two rails cross each other a cut 
through switch is recommended.  

When product comes from the straight 
rail and flows onto the curve (diverting 
rails) in an automated rail system a 
divert switch is recommended. 

®



101308

IDFI SWITCH STANDARD DIMENSION GUIDE Sheet 3 

LEVEL 45° SWITCHES CURVED END UP 
CURVED END DOWN 

45° SWITCHES 

90° SWITCHES PARALLEL SWITCHES

CUT THRU SWITCHES  

19”

17”

10”

19”

20 ¼”

13 ¼”

17”

19”

15”

19”

10”

22”

25”

25”

The HERCULES Rail Switch
®

MANUFACTURED BY:                        .COM
PHONE: 1-877-873-5858    FAX: 1-712-224-5604

S
W

IT
C

H
 O

R
D

E
R

IN
G

 G
U

ID
E

 S
H

E
E

T
 3

9



MANUFACTURED BY:                        .COM
PHONE: 1-877-873-5858    FAX: 1-712-224-5604

S
W

IT
C

H
 O

R
D

E
R

IN
G

 G
U

ID
E

 S
H

E
E

T
 4

10
102108

D = Elevation Change
       Up or Down on
       Curved Rail 

A + B = C (Bridge Height) 
A = Top of Bridge to Top of Rail 
B = Rail Height
C = Bridge Height 

HOW TO CALCULATE BRIDGE HIEGHT Sheet 4 

HOW TO DETERMINE ELEVATION CHANGE 

Top of Bridge

Bottom of Rail at Hanger

Curved End Up 

Curved End Down 

Curved End Level 

Top of Curved Rail 

Top of Straight Rail 

Top of Straight Rail 

Top of Curved Rail 

The HERCULES Rail Switch
®



MANUFACTURED BY:                        .COM
PHONE: 1-877-873-5858    FAX: 1-712-224-5604

GEAR SWITCH SECTION

G
E

A
R

G1R*L************

G3R*L************

G2L*D************

G2L*L************

G2R*D************

G2R*L************

G1L*D************

G1L*L************

G1R*D************

G3L*L************

G4R*L************

G4L*L************

14

15

16

17

18

19

20

21

22

23

24

25

Switch Description Page
Switch    
Layout

13



HERCULES

MANUFACTURED BY:                        .COM
PHONE: 1-877-873-5858    FAX: 1-712-224-560414

®

GEAR 1R LEVEL RAIL SWITCH                                   G1R*L************

G
E

A
R

GEAR 1R LVL COM KIT

Item 
No. Description QTY Zinc Stainless

GEAR 1R LVL STRAIGHT GATE ASSY
GEAR 1R LVL CURVED GATE ASSY

3/8-16 x 4 1/2” HEX BOLT
3/8-16 NYLOCK NUT

1
1.1
1.2
1.3
1.4

1114724
1126815
1113360
1111266

1126218
1114262
1120672
1119766

1122093 11285991

2

1
1

2

2.1
2.2

2 GEAR TROLLEY STOP KIT RIGHT 1127009 11206941
1124423
1126884

1123292
1126884

GEAR TROLLEY STOP ASSY RIGHT
GEAR TROLLEY STOP PIN 1

1
1

StainlessZincQTYDescriptionItem 
No.

03/03/17

2.3 5/16-21 JAM NY-LOCK NUT 1 1117918 1117918



HERCULES

MANUFACTURED BY:                        .COM
PHONE: 1-877-873-5858    FAX: 1-712-224-5604 15

®

GEAR 1R CED RAIL SWITCH                                       G1R*D************

G
E

A
R

GEAR 1R CED COM KIT

Item 
No. Description QTY Zinc Stainless

GEAR 1R CED CURVED GATE ASSY
GEAR 1R LVL STRAIGHT GATE ASSY

3/8-16 x 4 1/2” HEX BOLT
3/8-16 NYLOCK NUT

1
1.1
1.2
1.3
1.4

1120016
1114724

1113360
1111266

1123809
1126218

1120672
1119766

1118139 11277021

2

1
1

2

03/03/17

2.1
2.2

2 GEAR TROLLEY STOP KIT RIGHT 1127009 11206941
1124423
1126884

1123292
1126884

GEAR TROLLEY STOP ASSY RIGHT
GEAR TROLLEY STOP PIN 1

1
1

StainlessZincQTYDescriptionItem 
No.

2.3 5/16-21 JAM NY-LOCK NUT 1 1117918 1117918



HERCULES

MANUFACTURED BY:                        .COM
PHONE: 1-877-873-5858    FAX: 1-712-224-560416

®

GEAR 1L LEVEL RAIL SWITCH                                    G1L*L************

G
E

A
R

GEAR 1L LVL COM KIT

Item 
No. Description QTY Zinc Stainless

GEAR 1L LVL STRAIGHT GATE ASSY
GEAR 1L LVL CURVED GATE ASSY

3/8-16 x 4 1/2” HEX BOLT
3/8-16 NYLOCK NUT

1
1.1
1.2
1.3
1.4

1121176
1126785
1113360
1111266

1117390
1111835
1120672
1119766

1123551 11177931

2

1
1

2

03/03/17

2.1
2.2

2 GEAR TROLLEY STOP KIT LEFT 1125016 11128361
1119904
1126884

1125590
1126884

GEAR TROLLEY STOP ASSY LEFT
GEAR TROLLEY STOP PIN 1

1
1

StainlessZincQTYDescriptionItem 
No.

2.3 5/16-21 JAM NY-LOCK NUT 1 1117918 1117918



HERCULES

MANUFACTURED BY:                        .COM
PHONE: 1-877-873-5858    FAX: 1-712-224-5604 17

®

GEAR 1L CED RAIL SWITCH                                        G1L*D************

G
E

A
R

GEAR 1L CED COM KIT

Item 
No. Description QTY Zinc Stainless

GEAR 1L LVL STRAIGHT GATE ASSY
GEAR 1L CED CURVED GATE ASSY

3/8-16 x 4 1/2” HEX BOLT
3/8-16 NYLOCK NUT

1
1.1
1.2
1.3
1.4

1121176
1116742
1113360
1111266

1117390
1114103
1120672
1119766

1112509 11215571

2

1
1

2

03/03/17

2.1
2.2

2 GEAR TROLLEY STOP KIT LEFT 1125016 11128361
1119904
1126884

1125590
1126884

GEAR TROLLEY STOP ASSY LEFT
GEAR TROLLEY STOP PIN 1

1
1

StainlessZincQTYDescriptionItem 
No.

2.3 5/16-21 JAM NY-LOCK NUT 1 1117918 1117918



HERCULES

MANUFACTURED BY:                        .COM
PHONE: 1-877-873-5858    FAX: 1-712-224-560418

®

GEAR 2R LEVEL RAIL SWITCH                                   G2R*L************

G
E

A
R

GEAR 2R LVL COM KIT

Item 
No. Description QTY Zinc Stainless

GEAR 2R LVL STRAIGHT GATE ASSY
GEAR 2R LVL CURVED GATE ASSY

3/8-16 x 4 1/2” HEX BOLT
3/8-16 NYLOCK NUT

1
1.1
1.2
1.3
1.4

1122328
1127350
1113360
1111266

1114119
1118330
1120672
1119766

1118787 11135701

2

1
1

2

03/03/17

2.1
2.2

2 GEAR TROLLEY STOP KIT LEFT 1125016 11128361
1119904
1126884

1125590
1126884

GEAR TROLLEY STOP ASSY LEFT
GEAR TROLLEY STOP PIN 1

1
1

StainlessZincQTYDescriptionItem 
No.

2.3 5/16-21 JAM NY-LOCK NUT 1 1117918 1117918



HERCULES

MANUFACTURED BY:                        .COM
PHONE: 1-877-873-5858    FAX: 1-712-224-5604 19

®

GEAR 2R CED RAIL SWITCH                                       G2R*D************

G
E

A
R

GEAR 2R CED COM KIT

Item 
No. Description QTY Zinc Stainless

GEAR 2R CED CURVED GATE ASSY
GEAR 2R LVL STRAIGHT GATE ASSY

3/8-16 x 4 1/2” HEX BOLT
3/8-16 NYLOCK NUT

1
1.1
1.2
1.3
1.4

1123070
1122328

1113360
1111266

1126826
1114119

1120672
1119766

1126542 11221911

2

1
1

2

03/03/17

2.1
2.2

2 GEAR TROLLEY STOP KIT LEFT 1125016 11128361
1119904
1126884

1125590
1126884

GEAR TROLLEY STOP ASSY LEFT
GEAR TROLLEY STOP PIN 1

1
1

StainlessZincQTYDescriptionItem 
No.

2.3 5/16-21 JAM NY-LOCK NUT 1 1117918 1117918



HERCULES

MANUFACTURED BY:                        .COM
PHONE: 1-877-873-5858    FAX: 1-712-224-560420

®

GEAR 2L LEVEL RAIL SWITCH                                    G2L*L************

G
E

A
R

GEAR 2L LVL COM KIT

Item 
No. Description QTY Zinc Stainless

GEAR 2L LVL STRAIGHT GATE ASSY
GEAR 2L LVL CURVED GATE ASSY

3/8-16 x 4 1/2” HEX BOLT
3/8-16 NYLOCK NUT

1
1.1
1.2
1.3
1.4

1115943
1112308
1113360
1111266

1121170
1124632
1120672
1119766

1125333 11208061

2

1
1

2

03/03/17

2.1
2.2

2 GEAR TROLLEY STOP KIT RIGHT 1127009 11206941
1124423
1126884

1123292
1126884

GEAR TROLLEY STOP ASSY RIGHT
GEAR TROLLEY STOP PIN 1

1
1

StainlessZincQTYDescriptionItem 
No.

2.3 5/16-21 JAM NY-LOCK NUT 1 1117918 1117918



HERCULES

MANUFACTURED BY:                        .COM
PHONE: 1-877-873-5858    FAX: 1-712-224-5604 21

®

GEAR 2L CED RAIL SWITCH                                        G2L*D************

G
E

A
R

GEAR 2L CED COM KIT

Item 
No. Description QTY Zinc Stainless

GEAR 2L CED CURVED GATE ASSY
GEAR 2L LVL STRAIGHT GATE ASSY

3/8-16 x 4 1/2” HEX BOLT
3/8-16 NYLOCK NUT

1
1.1
1.2
1.3
1.4

1119876
1115943

1113360
1111266

1127317
1121170

1120672
1119766

1123461 11229481

2

1
1

2

03/03/17

2.1
2.2

2 GEAR TROLLEY STOP KIT RIGHT 1127009 11206941
1124423
1126884

1123292
1126884

GEAR TROLLEY STOP ASSY RIGHT
GEAR TROLLEY STOP PIN 1

1
1

StainlessZincQTYDescriptionItem 
No.

2.3 5/16-21 JAM NY-LOCK NUT 1 1117918 1117918



HERCULES

MANUFACTURED BY:                        .COM
PHONE: 1-877-873-5858    FAX: 1-712-224-560422

®

GEAR 3R LEVEL RAIL SWITCH                                   G3R*L************

G
E

A
R

GEAR 3R LVL COM KIT

Item 
No. Description QTY Zinc Stainless

GEAR 3R LVL CURVED GATE ASSY
GEAR 2R LVL CURVED GATE ASSY

3/8-16 x 4 1/2” HEX BOLT
3/8-16 NYLOCK NUT

1
1.1
1.2
1.3
1.4

1116929
1127350
1113360
1111266

1123846
1118330
1120672
1119766

1125927 11262971

2

1
1

2

03/03/17

2.1
2.2

2 GEAR TROLLEY STOP KIT LEFT 1125016 11128361
1119904
1126884

1125590
1126884

GEAR TROLLEY STOP ASSY LEFT
GEAR TROLLEY STOP PIN 1

1
1

StainlessZincQTYDescriptionItem 
No.

2.3 5/16-21 JAM NY-LOCK NUT 1 1117918 1117918



HERCULES

MANUFACTURED BY:                        .COM
PHONE: 1-877-873-5858    FAX: 1-712-224-5604 23

®

GEAR 3L LEVEL RAIL SWITCH                                    G3L*L************

G
E

A
R

GEAR 3L LVL COM KIT

Item 
No. Description QTY Zinc Stainless

GEAR 3L LVL CURVED GATE ASSY
GEAR 2L LVL CURVED GATE ASSY

3/8-16 x 4 1/2” HEX BOLT
3/8-16 NYLOCK NUT

1
1.1
1.2
1.3
1.4

1112219
1112308
1113360
1111266

1120352
1124632
1120672
1119766

1111896 11290471

2

1
1

2

03/03/17

2.1
2.2

2 GEAR TROLLEY STOP KIT RIGHT 1127009 11206941
1124423
1126884

1123292
1126884

GEAR TROLLEY STOP ASSY RIGHT
GEAR TROLLEY STOP PIN 1

1
1

StainlessZincQTYDescriptionItem 
No.

2.3 5/16-21 JAM NY-LOCK NUT 1 1117918 1117918



HERCULES

MANUFACTURED BY:                        .COM
PHONE: 1-877-873-5858    FAX: 1-712-224-560424

®

GEAR 4R LEVEL RAIL SWITCH                                   G4R*L************

G
E

A
R

GEAR 4R LVL GATE COM KIT

Item 
No. Description QTY Zinc Stainless

GEAR 4R LVL GATE ASSY
1/2-13 x 1 1/2” HEX BOLT

1/2-13 NYLOCK NUT

1
1.1
1.2
1.3

1123041
1114890
1122583

1122699
1121495
1124318

1124703 11276941

2
1

2

3 DIVERT BUSHING 2 2 1123456 1123456

StainlessZincQTYDescriptionItem 
No.

03/03/17

2.1
2.2

2 GEAR TROLLEY STOP KIT LEFT 1125016 11128361
1119904
1126884

1125590
1126884

GEAR TROLLEY STOP ASSY LEFT
GEAR TROLLEY STOP PIN 1

1
1

StainlessZincQTYDescriptionItem 
No.

2.3 5/16-21 JAM NY-LOCK NUT 1 1117918 1117918



HERCULES

MANUFACTURED BY:                        .COM
PHONE: 1-877-873-5858    FAX: 1-712-224-5604 25

®

GEAR 4L LEVEL RAIL SWITCH                                    G4L*L************

G
E

A
R

GEAR 4L LVL GATE COM KIT

Item 
No. Description QTY Zinc Stainless

GEAR 4L LVL GATE ASSY
1/2-13 x 1 1/2” HEX BOLT

1/2-13 NYLOCK NUT

1
1.1
1.2
1.3

1116824
1114890
1122583

1129880
1121495
1124318

1127085 11179211

2
1

2

3 DIVERT BUSHING 2 2 1123456 1123456

StainlessZincQTYDescriptionItem 
No.

03/03/17

2.1
2.2

2 GEAR TROLLEY STOP KIT RIGHT 1127009 11206941
1124423
1126884

1123292
1126884

GEAR TROLLEY STOP ASSY RIGHT
GEAR TROLLEY STOP PIN 1

1
1

StainlessZincQTYDescriptionItem 
No.

2.3 5/16-21 JAM NY-LOCK NUT 1 1117918 1117918



HERCULES

MANUFACTURED BY:                        .COM
PHONE: 1-877-873-5858    FAX: 1-712-224-560426

®

NOTES

G
E

A
R



MANUFACTURED BY:                        .COM
PHONE: 1-877-873-5858    FAX: 1-712-224-5604

AUTOMATIC SWITCH SECTION

A
U

TO
M

A
T

IC

A1R*L************

A3R*L************

A2L*U************

A2L*L************

A2R*U************

A2R*L************

A1L*U************

A1L*L************

A1R*U************

A3L*L************

AC1R*L************

AC1L*L************

29

30

31

32

33

34

35

36

37

38

39

40

Switch Description Page
Switch    
Layout

27



MANUFACTURED BY:                        .COM
PHONE: 1-877-873-5858    FAX: 1-712-224-560428

A
U

TO
M

A
T

IC



AUTOMATIC 1R LVL GATE COM KIT

Item 
No. Description QTY Zinc Stainless

AUTOMATIC 1R LVL STRAIGHT GATE ASSY
AUTOMATIC 1R LVL CURVED GATE ASSY

AUTOMATIC HEX BUSHING 1
AUTOMATIC HEX BUSHING 2

1
1.1
1.2
1.3
1.4

1112456

11113221

2

HERCULES

MANUFACTURED BY:                        .COM
PHONE: 1-877-873-5858    FAX: 1-712-224-5604 29

®

A
U

TO
M

A
T

IC

AUTOMATIC 1R LEVEL RAIL SWITCH                         A1R*L************
FEEDOUT 1R LEVEL RAIL SWITCH                             F1R*L************  

1.5

AUTOMATIC PIVOT PIN 1

1123390 1112691

1126265 1118858

“A” = BRIDGE HEIGHT MINUS 8”

“A” = BRIDGE HEIGHT MINUS 4”

“A” = BRIDGE HEIGHT MINUS 5”

SEE INSIDE OF BACK COVER 
FOR SWITCH TURNBUCKLE ROD          

LENGTH CHART

2
2

1
1

1124514
1112646
1119153
1114639

1124514

1119153
1119931
1126419

1112646

1114575

Item 
No. Description QTY Zinc Stainless

1112039
1129416
1120508 1128183

1112711
1115681

3
3.1

3.4
3.3
3.2

3.6
3.5

1128868
1126524

1124685
1129776

1
1

2
2

4

2
2

AUTOMATIC 1 LINKAGE COM KIT

BALL JOINT ROD END LEFT
5/16-24 JAM NUT

5/16-24 JAM NUT LH

BALL JOINT ROD END RIGHT

5/16-24 TOP LOCK JAM NUT

1/2-13 TOP LOCK NUT

6

4

StainlessZincQTYDescriptionItem 
No.

AUTOMATIC 1R ROCKER ARM ASSY
AUTOMATIC 1R WIDE ROCKER ARM ASSY 1127972

1122472
1117303
11299441

1

2.1
2.2
2.3
2.4
2.5
2.6
2.7
2.8
2.9

AUTOMATIC LEVER ASSY 1
AUTOMATIC SELECTOR ARM 1

1/2-13 TOP LOCK NUT
BALL JOINT ROD END RIGHT
BALL JOINT ROD END LEFT

AUTOMATIC EXTENSION SPRING
5/16-24 JAM NUT

5/16-24 JAM NUT LH
5/16-24 TOP LOCK JAM NUT

1
1
1
1
1
1
1
1
2

2

Item 
No. Description

1 1128339 1123650AUTOMATIC SELECTOR ARM COM KIT

1116261
1125138

1126524
1112039
1114987
1129416
1120508
1123390

1128868

1125869
1117970

1129776
1115681
1127722
1112711
1128183
1112691

1124685

StainlessZincQTY

USED ON AUTOMATIC SWITCH ONLY

Item 
No.

SWITCH TURNBUCKLE ROD

SWITCH TURNBUCKLE ROD

SWITCH TURNBUCKLE ROD

SWITCH TURNBUCKLE ROD NOT INCLUDED IN KIT

Description

5

7

8

02/27/17



AUTOMATIC 1R CEU GATE COM KIT

Item 
No. Description QTY Zinc Stainless

AUTOMATIC 1R LVL STRAIGHT GATE ASSY
AUTOMATIC 1R CEU CURVED GATE ASSY

AUTOMATIC HEX BUSHING 1
AUTOMATIC HEX BUSHING 2

1
1.1
1.2
1.3
1.4

1112456

11155381

2

HERCULES

MANUFACTURED BY:                        .COM
PHONE: 1-877-873-5858    FAX: 1-712-224-560430

®
A

U
TO

M
A

T
IC

AUTOMATIC 1R CEU RAIL SWITCH                            A1R*U************
FEEDOUT 1R CEU RAIL SWITCH                                 F1R*U************  

1.5

AUTOMATIC PIVOT PIN 1

1123390 1112691

1126265 1118858

“A” = BRIDGE HEIGHT MINUS 8”

“A” = BRIDGE HEIGHT MINUS 4”

“A” = BRIDGE HEIGHT MINUS 5”

SEE INSIDE OF BACK COVER 
FOR SWITCH TURNBUCKLE ROD          

LENGTH CHART

2
2

1
1

1124514
1112646
1119153
1114083

1124514

1119153
1111992
1126419

1112646

1127038

Item 
No. Description QTY Zinc Stainless

1112039
1129416
1120508 1128183

1112711
1115681

3
3.1

3.4
3.3
3.2

3.6
3.5

1128868
1126524

1124685
1129776

1
1

2
2

4

2
2

AUTOMATIC 1 LINKAGE COM KIT

BALL JOINT ROD END LEFT
5/16-24 JAM NUT

5/16-24 JAM NUT LH

BALL JOINT ROD END RIGHT

5/16-24 TOP LOCK JAM NUT

1/2-13 TOP LOCK NUT

6

4

StainlessZincQTYDescriptionItem 
No.

AUTOMATIC 1R ROCKER ARM ASSY
AUTOMATIC 1R WIDE ROCKER ARM ASSY 1127972

1122472
1117303
11299441

1

2.1
2.2
2.3
2.4
2.5
2.6
2.7
2.8
2.9

AUTOMATIC LEVER ASSY 1
AUTOMATIC SELECTOR ARM 1

1/2-13 TOP LOCK NUT
BALL JOINT ROD END RIGHT
BALL JOINT ROD END LEFT

AUTOMATIC EXTENSION SPRING
5/16-24 JAM NUT

5/16-24 JAM NUT LH
5/16-24 TOP LOCK JAM NUT

1
1
1
1
1
1
1
1
2

2

Item 
No. Description

1 1128339 1123650AUTOMATIC SELECTOR ARM COM KIT

1116261
1125138

1126524
1112039
1114987
1129416
1120508
1123390

1128868

1125869
1117970

1129776
1115681
1127722
1112711
1128183
1112691

1124685

StainlessZincQTY

USED ON AUTOMATIC SWITCH ONLY

Item 
No.

SWITCH TURNBUCKLE ROD

SWITCH TURNBUCKLE ROD

SWITCH TURNBUCKLE ROD

SWITCH TURNBUCKLE ROD NOT INCLUDED IN KIT

Description

5

7

8

02/27/17



AUTOMATIC 1L LVL GATE COM KIT

Item 
No. Description QTY Zinc Stainless

AUTOMATIC 1L LVL STRAIGHT GATE ASSY
AUTOMATIC 1L LVL CURVED GATE ASSY

AUTOMATIC HEX BUSHING 1
AUTOMATIC HEX BUSHING 2

1
1.1
1.2
1.3
1.4

1111453

11235311

2

HERCULES

MANUFACTURED BY:                        .COM
PHONE: 1-877-873-5858    FAX: 1-712-224-5604 31

®

A
U

TO
M

A
T

IC

AUTOMATIC 1L LEVEL RAIL SWITCH                          A1L*L************
FEEDOUT 1L LEVEL RAIL SWITCH                              F1L*L************  

1.5

AUTOMATIC PIVOT PIN 1

1123390 1112691

1126265 1118858

“A” = BRIDGE HEIGHT MINUS 8”

“A” = BRIDGE HEIGHT MINUS 4”

“A” = BRIDGE HEIGHT MINUS 5”

SEE INSIDE OF BACK COVER 
FOR SWITCH TURNBUCKLE ROD          

LENGTH CHART

2
2

1
1

1124514
1112646
1119153
1123517

1124514

1119153
1114771
1121304

1112646

1115587

Item 
No. Description QTY Zinc Stainless

1112039
1129416
1120508 1128183

1112711
1115681

3
3.1

3.4
3.3
3.2

3.6
3.5

1128868
1126524

1124685
1129776

1
1

2
2

4

2
2

AUTOMATIC 1 LINKAGE COM KIT

BALL JOINT ROD END LEFT
5/16-24 JAM NUT

5/16-24 JAM NUT LH

BALL JOINT ROD END RIGHT

5/16-24 TOP LOCK JAM NUT

1/2-13 TOP LOCK NUT

6

4

StainlessZincQTYDescriptionItem 
No.

AUTOMATIC 1L ROCKER ARM ASSY
AUTOMATIC 1L WIDE ROCKER ARM ASSY 1125346

1119178
1111946
11119671

1

2.1
2.2
2.3
2.4
2.5
2.6
2.7
2.8
2.9

AUTOMATIC LEVER ASSY 1
AUTOMATIC SELECTOR ARM 1

1/2-13 TOP LOCK NUT
BALL JOINT ROD END RIGHT
BALL JOINT ROD END LEFT

AUTOMATIC EXTENSION SPRING
5/16-24 JAM NUT

5/16-24 JAM NUT LH
5/16-24 TOP LOCK JAM NUT

1
1
1
1
1
1
1
1
2

2

Item 
No. Description

1 1128339 1123650AUTOMATIC SELECTOR ARM COM KIT

1116261
1125138

1126524
1112039
1114987
1129416
1120508
1123390

1128868

1125869
1117970

1129776
1115681
1127722
1112711
1128183
1112691

1124685

StainlessZincQTY

USED ON AUTOMATIC SWITCH ONLY

Item 
No.

SWITCH TURNBUCKLE ROD

SWITCH TURNBUCKLE ROD

SWITCH TURNBUCKLE ROD

SWITCH TURNBUCKLE ROD NOT INCLUDED IN KIT

Description

5

7

8

02/27/17



AUTOMATIC 1L CEU GATE COM KIT

Item 
No. Description QTY Zinc Stainless

AUTOMATIC 1L LVL STRAIGHT GATE ASSY
AUTOMATIC 1L CEU CURVED GATE ASSY

AUTOMATIC HEX BUSHING 1
AUTOMATIC HEX BUSHING 2

1
1.1
1.2
1.3
1.4

1115496

11132571

2

HERCULES

MANUFACTURED BY:                        .COM
PHONE: 1-877-873-5858    FAX: 1-712-224-560432

®
A

U
TO

M
A

T
IC

AUTOMATIC 1L CEU RAIL SWITCH                             A1L*U************
FEEDOUT 1L CEU RAIL SWITCH                                 F1L*U************  

1.5

AUTOMATIC PIVOT PIN 1

1123390 1112691

1126265 1118858

“A” = BRIDGE HEIGHT MINUS 8”

“A” = BRIDGE HEIGHT MINUS 4”

“A” = BRIDGE HEIGHT MINUS 5”

SEE INSIDE OF BACK COVER 
FOR SWITCH TURNBUCKLE ROD          

LENGTH CHART

2
2

1
1

1124514
1112646
1119153
1115496

1124514

1119153
1115645
1121304

1112646

1128111

Item 
No. Description QTY Zinc Stainless

1112039
1129416
1120508 1128183

1112711
1115681

3
3.1

3.4
3.3
3.2

3.6
3.5

1128868
1126524

1124685
1129776

1
1

2
2

4

2
2

AUTOMATIC 1 LINKAGE COM KIT

BALL JOINT ROD END LEFT
5/16-24 JAM NUT

5/16-24 JAM NUT LH

BALL JOINT ROD END RIGHT

5/16-24 TOP LOCK JAM NUT

1/2-13 TOP LOCK NUT

6

4

StainlessZincQTYDescriptionItem 
No.

AUTOMATIC 1L ROCKER ARM ASSY
AUTOMATIC 1L WIDE ROCKER ARM ASSY 1125346

1119178
1111946
11119671

1

2.1
2.2
2.3
2.4
2.5
2.6
2.7
2.8
2.9

AUTOMATIC LEVER ASSY 1
AUTOMATIC SELECTOR ARM 1

1/2-13 TOP LOCK NUT
BALL JOINT ROD END RIGHT
BALL JOINT ROD END LEFT

AUTOMATIC EXTENSION SPRING
5/16-24 JAM NUT

5/16-24 JAM NUT LH
5/16-24 TOP LOCK JAM NUT

1
1
1
1
1
1
1
1
2

2

Item 
No. Description

1 1128339 1123650AUTOMATIC SELECTOR ARM COM KIT

1116261
1125138

1126524
1112039
1114987
1129416
1120508
1123390

1128868

1125869
1117970

1129776
1115681
1127722
1112711
1128183
1112691

1124685

StainlessZincQTY

USED ON AUTOMATIC SWITCH ONLY

Item 
No.

SWITCH TURNBUCKLE ROD

SWITCH TURNBUCKLE ROD

SWITCH TURNBUCKLE ROD

SWITCH TURNBUCKLE ROD NOT INCLUDED IN KIT

Description

5

7

8

02/27/17



AUTOMATIC 2R LVL GATE COM KIT

Item 
No. Description QTY Zinc Stainless

AUTOMATIC 2R LVL STRAIGHT GATE ASSY
AUTOMATIC 2R LVL CURVED GATE ASSY

AUTOMATIC HEX BUSHING 1
AUTOMATIC HEX BUSHING 2

1
1.1
1.2
1.3
1.4

1126463

11236171

2

HERCULES

MANUFACTURED BY:                        .COM
PHONE: 1-877-873-5858    FAX: 1-712-224-5604 33

®

A
U

TO
M

A
T

IC

AUTOMATIC 2R LEVEL RAIL SWITCH                         A2R*L************
FEEDOUT 2R LEVEL RAIL SWITCH                             F2R*L************  

1.5

AUTOMATIC PIVOT PIN 1
1123390 1112691

1128339 1123650

“A” = BRIDGE HEIGHT MINUS 8”
“A” = BRIDGE HEIGHT MINUS 4”
“A” = BRIDGE HEIGHT MINUS 5”

SEE INSIDE OF BACK COVER FOR SWITCH 
TURNBUCKLE ROD LENGTH CHART

2
2

1
1

1124514
1112646
1119153
1120679

1124514

1119153
1112034
1113107

1112646

1128658

Item 
No. Description QTY Zinc Stainless

1112039

1129416
1120508 1128183

1112711

1115681

3
3.1

3.4
3.3
3.2

3.6
3.5

1128868
1126524

1124685
1129776

1

1

2
1

1

1
1

AUTOMATIC SELECTOR ARM COM KIT

BALL JOINT ROD END LEFT

5/16-24 JAM NUT
5/16-24 JAM NUT LH

BALL JOINT ROD END RIGHT

5/16-24 TOP LOCK JAM NUT

1/2-13 TOP LOCK NUT

4

2.1
2.2
2.3
2.4
2.5
2.6
2.7

AUTOMATIC 2R ROCKER ARM ASSY 1

1/2-13 TOP LOCK NUT

BALL JOINT ROD END RIGHT
BALL JOINT ROD END LEFT

5/16-24 JAM NUT
5/16-24 JAM NUT LH

5/16-24 TOP LOCK JAM NUT

1
2
2
1
2
2
4

2

Item 
No. Description

1 1122978 1127863AUTOMATIC 2R LVL ROCKER ARM 
COM KIT

1123900

1126524
1112039

1129416
1120508

1123390

1128868

1119607

1129776
1115681

1112711
1128183

1112691

1124685

StainlessZincQTY

USED ON AUTOMATIC SWITCH ONLY

Item 
No.

SWITCH TURNBUCKLE ROD
SWITCH TURNBUCKLE ROD
SWITCH TURNBUCKLE ROD

SWITCH TURNBUCKLE ROD NOT INCLUDED IN KIT

Description

5
6

1

AUTOMATIC EXTENSION SPRING

1

1114987 1127722

AUTOMATIC SELECTOR ARM 1
AUTOMATIC LEVER ASSY 1 1125138

1116261 1125869
1117970

1

3.9
3.8
3.7

02/27/17



AUTOMATIC 2R CEU GATE COM KIT

Item 
No. Description QTY Zinc Stainless

AUTOMATIC 2R LVL STRAIGHT GATE ASSY
AUTOMATIC 2R CEU CURVED GATE ASSY

AUTOMATIC HEX BUSHING 1
AUTOMATIC HEX BUSHING 2

1
1.1
1.2
1.3
1.4

1126463

11201871

2

HERCULES

MANUFACTURED BY:                        .COM
PHONE: 1-877-873-5858    FAX: 1-712-224-560434

®
A

U
TO

M
A

T
IC

AUTOMATIC 2R CEU RAIL SWITCH                            A2R*U************
FEEDOUT 2R CEU RAIL SWITCH                                 F2R*U************  

1.5

AUTOMATIC PIVOT PIN 1
1123390 1112691

1128339 1123650

“A” = BRIDGE HEIGHT MINUS 8”
“A” = BRIDGE HEIGHT MINUS 4”
“A” = BRIDGE HEIGHT MINUS 5”

SEE INSIDE OF BACK COVER FOR SWITCH 
TURNBUCKLE ROD LENGTH CHART

2
2

1
1

1124514
1112646
1119153
1124558

1124514

1119153
1116424
1113107

1112646

1112737

Item 
No. Description QTY Zinc Stainless

1112039

1129416
1120508 1128183

1112711

1115681

3
3.1

3.4
3.3
3.2

3.6
3.5

1128868
1126524

1124685
1129776

1

1

2
1

1

1
1

AUTOMATIC SELECTOR ARM COM KIT

BALL JOINT ROD END LEFT

5/16-24 JAM NUT
5/16-24 JAM NUT LH

BALL JOINT ROD END RIGHT

5/16-24 TOP LOCK JAM NUT

1/2-13 TOP LOCK NUT

4

2.1
2.2
2.3
2.4
2.5
2.6
2.7

AUTOMATIC 2R ROCKER ARM ASSY 1

1/2-13 TOP LOCK NUT

BALL JOINT ROD END RIGHT
BALL JOINT ROD END LEFT

5/16-24 JAM NUT
5/16-24 JAM NUT LH

5/16-24 TOP LOCK JAM NUT

1
2
2
1
2
2
4

2

Item 
No. Description

1 1122978 1127863AUTOMATIC 2R ROCKER ARM
COM KIT

1123900

1126524
1112039

1129416
1120508

1123390

1128868

1119607

1129776
1115681

1112711
1128183

1112691

1124685

StainlessZincQTY

USED ON AUTOMATIC SWITCH ONLY

Item 
No.

SWITCH TURNBUCKLE ROD
SWITCH TURNBUCKLE ROD
SWITCH TURNBUCKLE ROD

SWITCH TURNBUCKLE ROD NOT INCLUDED IN KIT

Description

5
6

1

AUTOMATIC EXTENSION SPRING

1

1114987 1127722

AUTOMATIC SELECTOR ARM 1
AUTOMATIC LEVER ASSY 1 1125138

1116261 1125869
1117970

1

3.9
3.8
3.7

02/27/17



AUTOMATIC 2L LVL GATE COM KIT

Item 
No. Description QTY Zinc Stainless

AUTOMATIC 2L LVL STRAIGHT GATE ASSY
AUTOMATIC 2L LVL CURVED GATE ASSY

AUTOMATIC HEX BUSHING 1
AUTOMATIC HEX BUSHING 2

1
1.1
1.2
1.3
1.4

1119184

11227491

2

HERCULES

MANUFACTURED BY:                        .COM
PHONE: 1-877-873-5858    FAX: 1-712-224-5604 35

®

A
U

TO
M

A
T

IC

AUTOMATIC 2L LEVEL RAIL SWITCH                          A2L*L************
FEEDOUT 2L LEVEL RAIL SWITCH                              F2L*L************  

1.5

AUTOMATIC PIVOT PIN 1
1123390 1112691

1128339 1123650

“A” = BRIDGE HEIGHT MINUS 8”
“A” = BRIDGE HEIGHT MINUS 4”
“A” = BRIDGE HEIGHT MINUS 5”

SEE INSIDE OF BACK COVER FOR SWITCH 
TURNBUCKLE ROD LENGTH CHART

2
2

1
1

1124514
1112646
1119153
1129823

1124514

1119153
1126499
1112466

1112646

1115111

Item 
No. Description QTY Zinc Stainless

1112039

1129416
1120508 1128183

1112711

1115681

3
3.1

3.4
3.3
3.2

3.6
3.5

1128868
1126524

1124685
1129776

1

1

2
1

1

1
1

AUTOMATIC SELECTOR ARM COM KIT

BALL JOINT ROD END LEFT

5/16-24 JAM NUT
5/16-24 JAM NUT LH

BALL JOINT ROD END RIGHT

5/16-24 TOP LOCK JAM NUT

1/2-13 TOP LOCK NUT

4

2.1
2.2
2.3
2.4
2.5
2.6
2.7

AUTOMATIC 2L ROCKER ARM ASSY 1

1/2-13 TOP LOCK NUT

BALL JOINT ROD END RIGHT
BALL JOINT ROD END LEFT

5/16-24 JAM NUT
5/16-24 JAM NUT LH

5/16-24 TOP LOCK JAM NUT

1
2
2
1
2
2
4

2

Item 
No. Description

1 1124872 1111462AUTOMATIC 2L LVL ROCKER ARM 
COM KIT

1127130

1126524
1112039

1129416
1120508

1123390

1128868

1118630

1129776
1115681

1112711
1128183

1112691

1124685

StainlessZincQTY

USED ON AUTOMATIC SWITCH ONLY

Item 
No.

SWITCH TURNBUCKLE ROD
SWITCH TURNBUCKLE ROD
SWITCH TURNBUCKLE ROD

SWITCH TURNBUCKLE ROD NOT INCLUDED IN KIT

Description

5
6

1

AUTOMATIC EXTENSION SPRING

1

1114987 1127722

AUTOMATIC SELECTOR ARM 1
AUTOMATIC LEVER ASSY 1 1125138

1116261 1125869
1117970

1

3.9
3.8
3.7

02/27/17



AUTOMATIC 2L CEU GATE COM KIT

Item 
No. Description QTY Zinc Stainless

AUTOMATIC 2L LVL STRAIGHT GATE ASSY
AUTOMATIC 2L CEU CURVED GATE ASSY

AUTOMATIC HEX BUSHING 1
AUTOMATIC HEX BUSHING 2

1
1.1
1.2
1.3
1.4

1119184

11169421

2

HERCULES

MANUFACTURED BY:                        .COM
PHONE: 1-877-873-5858    FAX: 1-712-224-560436

®
A

U
TO

M
A

T
IC

AUTOMATIC 2L CEU RAIL SWITCH                             A2L*U************
FEEDOUT 2L CEU RAIL SWITCH                                 F2L*U************  

1.5

AUTOMATIC PIVOT PIN 1
1123390 1112691

1128339 1123650

“A” = BRIDGE HEIGHT MINUS 8”
“A” = BRIDGE HEIGHT MINUS 4”
“A” = BRIDGE HEIGHT MINUS 5”

SEE INSIDE OF BACK COVER FOR SWITCH 
TURNBUCKLE ROD LENGTH CHART

2
2

1
1

1124514
1112646
1119153
1114809

1124514

1119153
1112074
1112466

1112646

1116709

Item 
No. Description QTY Zinc Stainless

1112039

1129416
1120508 1128183

1112711

1115681

3
3.1

3.4
3.3
3.2

3.6
3.5

1128868
1126524

1124685
1129776

1

1

2
1

1

1
1

AUTOMATIC SELECTOR ARM COM KIT

BALL JOINT ROD END LEFT

5/16-24 JAM NUT
5/16-24 JAM NUT LH

BALL JOINT ROD END RIGHT

5/16-24 TOP LOCK JAM NUT

1/2-13 TOP LOCK NUT

4

2.1
2.2
2.3
2.4
2.5
2.6
2.7

AUTOMATIC 2L ROCKER ARM ASSY 1

1/2-13 TOP LOCK NUT

BALL JOINT ROD END RIGHT
BALL JOINT ROD END LEFT

5/16-24 JAM NUT
5/16-24 JAM NUT LH

5/16-24 TOP LOCK JAM NUT

1
2
2
1
2
2
4

2

Item 
No. Description

1 1124872 1111462AUTOMATIC 2L LVL ROCKER ARM 
COM KIT

1127130

1126524
1112039

1129416
1120508

1123390

1128868

1118630

1129776
1115681

1112711
1128183

1112691

1124685

StainlessZincQTY

USED ON AUTOMATIC SWITCH ONLY

Item 
No.

SWITCH TURNBUCKLE ROD
SWITCH TURNBUCKLE ROD
SWITCH TURNBUCKLE ROD

SWITCH TURNBUCKLE ROD NOT INCLUDED IN KIT

Description

5
6

1

AUTOMATIC EXTENSION SPRING

1

1114987 1127722

AUTOMATIC SELECTOR ARM 1
AUTOMATIC LEVER ASSY 1 1125138

1116261 1125869
1117970

1

3.9
3.8
3.7

02/27/17



AUTOMATIC 3R LVL GATE COM KIT

Item 
No. Description QTY Zinc Stainless

AUTOMATIC 1L LVL CURVED GATE ASSY
AUTOMATIC 2R LVL CURVED GATE ASSY

AUTOMATIC HEX BUSHING 1
AUTOMATIC HEX BUSHING 2

1
1.1
1.2
1.3
1.4

1123517

11194151

2

HERCULES

MANUFACTURED BY:                        .COM
PHONE: 1-877-873-5858    FAX: 1-712-224-5604 37

®

A
U

TO
M

A
T

IC

AUTOMATIC 3R LEVEL RAIL SWITCH                         A3R*L************
FEEDOUT 3R LEVEL RAIL SWITCH                             F3R*L************  

1.5

AUTOMATIC PIVOT PIN 1
1123390 1112691

1128339 1123650

“A” = BRIDGE HEIGHT MINUS 8”
“A” = BRIDGE HEIGHT MINUS 4”
“A” = BRIDGE HEIGHT MINUS 5”

SEE INSIDE OF BACK COVER FOR SWITCH 
TURNBUCKLE ROD LENGTH CHART

2
2

1
1

1124514
1112646
1119153
1120679

1124514

1119153
1112034
1114771

1112646

1119174

Item 
No. Description QTY Zinc Stainless

1112039

1129416
1120508 1128183

1112711

1115681

3
3.1

3.4
3.3
3.2

3.6
3.5

1128868
1126524

1124685
1129776

1

1

2
1

1

1
1

AUTOMATIC SELECTOR ARM COM KIT

BALL JOINT ROD END LEFT

5/16-24 JAM NUT
5/16-24 JAM NUT LH

BALL JOINT ROD END RIGHT

5/16-24 TOP LOCK JAM NUT

1/2-13 TOP LOCK NUT

4

2.1
2.2
2.3
2.4
2.5
2.6
2.7

AUTOMATIC 3R ROCKER ARM ASSY 1

1/2-13 TOP LOCK NUT

BALL JOINT ROD END RIGHT
BALL JOINT ROD END LEFT

5/16-24 JAM NUT
5/16-24 JAM NUT LH

5/16-24 TOP LOCK JAM NUT

1
2
2
1
2
2
4

2

Item 
No. Description

1 1128631 1112776AUTOMATIC 3R LVL ROCKER ARM 
COM KIT

1125819

1126524
1112039

1129416
1120508

1123390

1128868

1118228

1129776
1115681

1112711
1128183

1112691

1124685

StainlessZincQTY

USED ON AUTOMATIC SWITCH ONLY

Item 
No.

SWITCH TURNBUCKLE ROD
SWITCH TURNBUCKLE ROD
SWITCH TURNBUCKLE ROD

SWITCH TURNBUCKLE ROD NOT INCLUDED IN KIT

Description

5
6

1

AUTOMATIC EXTENSION SPRING

1

1114987 1127722

AUTOMATIC SELECTOR ARM 1
AUTOMATIC LEVER ASSY 1 1125138

1116261 1125869
1117970

1

3.9
3.8
3.7

02/27/17



AUTOMATIC 3L LVL GATE COM KIT

Item 
No. Description QTY Zinc Stainless

AUTOMATIC 1R LVL CURVED GATE ASSY
AUTOMATIC 2L LVL CURVED GATE ASSY

AUTOMATIC HEX BUSHING 1
AUTOMATIC HEX BUSHING 2

1
1.1
1.2
1.3
1.4

1114639

11218011

2

HERCULES

MANUFACTURED BY:                        .COM
PHONE: 1-877-873-5858    FAX: 1-712-224-560438

®
A

U
TO

M
A

T
IC

AUTOMATIC 3L LEVEL RAIL SWITCH                          A3L*L************
FEEDOUT 3L LEVEL RAIL SWITCH                              F3L*L************  

1.5

AUTOMATIC PIVOT PIN 1
1123390 1112691

1128339 1123650

“A” = BRIDGE HEIGHT MINUS 8”
“A” = BRIDGE HEIGHT MINUS 4”
“A” = BRIDGE HEIGHT MINUS 5”

SEE INSIDE OF BACK COVER FOR SWITCH 
TURNBUCKLE ROD LENGTH CHART

2
2

1
1

1124514
1112646
1119153
1129823

1124514

1119153
1126499
1119931

1112646

1122351

Item 
No. Description QTY Zinc Stainless

1112039

1129416
1120508 1128183

1112711

1115681

3
3.1

3.4
3.3
3.2

3.6
3.5

1128868
1126524

1124685
1129776

1

1

2
1

1

1
1

AUTOMATIC SELECTOR ARM COM KIT

BALL JOINT ROD END LEFT

5/16-24 JAM NUT
5/16-24 JAM NUT LH

BALL JOINT ROD END RIGHT

5/16-24 TOP LOCK JAM NUT

1/2-13 TOP LOCK NUT

4

2.1
2.2
2.3
2.4
2.5
2.6
2.7

AUTOMATIC 3L ROCKER ARM ASSY 1

1/2-13 TOP LOCK NUT

BALL JOINT ROD END RIGHT
BALL JOINT ROD END LEFT

5/16-24 JAM NUT
5/16-24 JAM NUT LH

5/16-24 TOP LOCK JAM NUT

1
2
2
1
2
2
4

2

Item 
No. Description

1 1115135 1128627AUTOMATIC 3L LVL ROCKER ARM 
COM KIT

1129072

1126524
1112039

1129416
1120508

1123390

1128868

1129539

1129776
1115681

1112711
1128183

1112691

1124685

StainlessZincQTY

USED ON AUTOMATIC SWITCH ONLY

Item 
No.

SWITCH TURNBUCKLE ROD
SWITCH TURNBUCKLE ROD
SWITCH TURNBUCKLE ROD

SWITCH TURNBUCKLE ROD NOT INCLUDED IN KIT

Description

5
6

1

AUTOMATIC EXTENSION SPRING

1

1114987 1127722

AUTOMATIC SELECTOR ARM 1
AUTOMATIC LEVER ASSY 1 1125138

1116261 1125869
1117970

1

3.9
3.8
3.7

02/27/17



AUTOMATIC 1R LVL GATE COM KIT

Item 
No. Description QTY Zinc Stainless

AUTOMATIC 1R LVL STRAIGHT GATE ASSY
AUTOMATIC 1R LVL CURVED GATE ASSY

AUTOMATIC HEX BUSHING 1
AUTOMATIC HEX BUSHING 2

1
1.1
1.2
1.3
1.4

1112456

11113221

2

HERCULES

MANUFACTURED BY:                        .COM
PHONE: 1-877-873-5858    FAX: 1-712-224-5604 39

®

A
U

TO
M

A
T

IC

AUTOMATIC C1R LEVEL RAIL SWITCH                    AC1R*L************
FEEDOUT C1R LEVEL RAIL SWITCH                         FC1R*L************  

1.5

AUTOMATIC PIVOT PIN 1

1123390 1112691

1127593 1122368

“A” = BRIDGE HEIGHT MINUS 8”

“A” = BRIDGE HEIGHT MINUS 4”

“A” = BRIDGE HEIGHT MINUS 5”

SEE INSIDE OF BACK COVER 
FOR SWITCH TURNBUCKLE ROD          

LENGTH CHART

2
2

1
1

1124514
1112646
1119153
1114639

1124514

1119153
1119931
1126419

1112646

1114575

Item 
No. Description QTY Zinc Stainless

1112039
1129416
1120508 1128183

1112711
1115681

3

3.2

3.5
3.4
3.3

3.7
3.6

1128868
1126524

1124685
1129776

1

1

2
2

4

2
2

AUTOMATIC C1R LVL CORNER  
SWITCH ROCKER ARM 12 INCH        

RADIUS COM KIT

BALL JOINT ROD END LEFT
5/16-24 JAM NUT

5/16-24 JAM NUT LH

BALL JOINT ROD END RIGHT

5/16-24 TOP LOCK JAM NUT

1/2-13 TOP LOCK NUT

6

2.1
2.2
2.3
2.4
2.5
2.6
2.7
2.8
2.9

AUTOMATIC LEVER ASSY 1
AUTOMATIC SELECTOR ARM 1

1/2-13 TOP LOCK NUT
BALL JOINT ROD END RIGHT
BALL JOINT ROD END LEFT

AUTOMATIC EXTENSION SPRING
5/16-24 JAM NUT

5/16-24 JAM NUT LH
5/16-24 TOP LOCK JAM NUT

1
1
1
1
1
1
1
1
2

2

Item 
No. Description

1 1128339 1123650AUTOMATIC SELECTOR ARM COM KIT

1116261
1125138

1126524
1112039
1114987
1129416
1120508
1123390

1128868

1125869
1117970

1129776
1115681
1127722
1112711
1128183
1112691

1124685

StainlessZincQTY

USED ON AUTOMATIC SWITCH ONLY

Item 
No.

SWITCH TURNBUCKLE ROD

SWITCH TURNBUCKLE ROD

SWITCH TURNBUCKLE ROD

SWITCH TURNBUCKLE ROD NOT INCLUDED IN KIT

Description

7

8

AUTOMATIC C1R LVL CORNER SWITCH 
ROCKER ARM 12INCH RADIUS 1 1124225 11265963.1

02/27/17



AUTOMATIC 1L LVL GATE COM KIT

Item 
No. Description QTY Zinc Stainless

AUTOMATIC 1L LVL STRAIGHT GATE ASSY
AUTOMATIC 1L LVL CURVED GATE ASSY

AUTOMATIC HEX BUSHING 1
AUTOMATIC HEX BUSHING 2

1
1.1
1.2
1.3
1.4

1111453

11235311

2

HERCULES

MANUFACTURED BY:                        .COM
PHONE: 1-877-873-5858    FAX: 1-712-224-560440

®
A

U
TO

M
A

T
IC

AUTOMATIC C1L LEVEL RAIL SWITCH                     AC1L*L************
FEEDOUT C1L LEVEL RAIL SWITCH                         FC1L*L************  

1.5

AUTOMATIC PIVOT PIN 1

1123390 1112691

1117746 1129003

“A” = BRIDGE HEIGHT MINUS 8”

“A” = BRIDGE HEIGHT MINUS 4”

“A” = BRIDGE HEIGHT MINUS 5”

SEE INSIDE OF BACK COVER 
FOR SWITCH TURNBUCKLE ROD          

LENGTH CHART

2
2

1
1

1124514
1112646
1119153
1123517

1124514

1119153
1114771
1121304

1112646

1115587

Item 
No. Description QTY Zinc Stainless

1112039
1129416
1120508 1128183

1112711
1115681

3

3.2

3.5
3.4
3.3

3.7
3.6

1128868
1126524

1124685
1129776

1

1

2
2

4

2
2

AUTOMATIC C1L LVL CORNER  
SWITCH ROCKER ARM 12 INCH        

RADIUS COM KIT

BALL JOINT ROD END LEFT
5/16-24 JAM NUT

5/16-24 JAM NUT LH

BALL JOINT ROD END RIGHT

5/16-24 TOP LOCK JAM NUT

1/2-13 TOP LOCK NUT

6

2.1
2.2
2.3
2.4
2.5
2.6
2.7
2.8
2.9

AUTOMATIC LEVER ASSY 1
AUTOMATIC SELECTOR ARM 1

1/2-13 TOP LOCK NUT
BALL JOINT ROD END RIGHT
BALL JOINT ROD END LEFT

AUTOMATIC EXTENSION SPRING
5/16-24 JAM NUT

5/16-24 JAM NUT LH
5/16-24 TOP LOCK JAM NUT

1
1
1
1
1
1
1
1
2

2

Item 
No. Description

1 1128339 1123650AUTOMATIC SELECTOR ARM COM KIT

1116261
1125138

1126524
1112039
1114987
1129416
1120508
1123390

1128868

1125869
1117970

1129776
1115681
1127722
1112711
1128183
1112691

1124685

StainlessZincQTY

USED ON AUTOMATIC SWITCH ONLY

Item 
No.

SWITCH TURNBUCKLE ROD

SWITCH TURNBUCKLE ROD

SWITCH TURNBUCKLE ROD

SWITCH TURNBUCKLE ROD NOT INCLUDED IN KIT

Description

7

8

AUTOMATIC C1L LVL CORNER SWITCH 
ROCKER ARM 12 INCH RADIUS 1 1117799 11177433.1

02/27/17



MANUFACTURED BY:                        .COM
PHONE: 1-877-873-5858    FAX: 1-712-224-5604

DIVERT SWITCH SECTION

D
IV

E
R

T

D1R*L************

D2R*U************

D2R*D************

D2R*L************

D1L*U************

D1L*D************

D1L*L************

D1R*U************

D1R*D************

D2L*L************

D2L*D************

D2L*U************

42

43

44

45

46

47

48

49

50

51

52

53

Switch Description Page
Switch    
Layout

41



DIVERT 1R LVL COM KIT
(CURVED GATE AND STRAIGHT GATE KITS)

CYLINDER NOT INCLUDED

Item 
No. Description QTY Zinc Stainless

1 11164891

HERCULES

MANUFACTURED BY:                        .COM
PHONE: 1-877-873-5858    FAX: 1-712-224-560442

®
D

IV
E

R
T

DIVERT 1R LEVEL RAIL SWITCH                                D1R*L************

1122518 1112142

1114442 1119258
1123404

Item 
No. Description QTY Zinc Stainless

1120039
1113255
1119976 1119976

1113255
1129143

3
3.1

3.4
3.3
3.2

3.6
3.5

1123456
1114776

1123456
1111747

1
1

1
1

1

1
1

DIVERT 1R LVL CURVED GATE KIT

DIVERT 1R SPACER WASHER
DIVERT PIVOT PIN 2 ASSY

3/4-10 NYLOCK NUT

DIVERT WASHER

DIVERT BUSHING 2

DIVERT 1R LVL CURVED GATE ASSY

2.1
2.2
2.3
2.4
2.5

DIVERT 1R STRAIGHT GATE ASSY
DIVERT PIVOT PIN 1 ASSY

DIVERT SPRING 1
3/8-16 NYLOCK NUT

DIVERT BUSHING

1
1
1
1
1

2

Item 
No. Description

1 1116289 1125513DIVERT 1R LVL STRAIGHT GATE KIT

1111266
1129007
1123242
1121904

1123894
1119766
1129536
1123242
1122813

1123894

StainlessZincQTY

3.7 DIVERT BUSHING 4 1 1111525 1111525

Item 
No. Description QTY Zinc Stainless

111569611156961SWITCH CYLINDER4

SWITCH CYLINDER NOT INCLUDED IN COM KIT

02/27/17



DIVERT 1R CED COM KIT
(CURVED GATE AND STRAIGHT GATE KITS)

CYLINDER NOT INCLUDED

Item 
No. Description QTY Zinc Stainless

1 11161891

HERCULES

MANUFACTURED BY:                        .COM
PHONE: 1-877-873-5858    FAX: 1-712-224-5604 43

®

D
IV

E
R

T

DIVERT 1R CED RAIL SWITCH                                    D1R*D************

1128141 1127676

1125701 1117101
1111529

Item 
No. Description QTY Zinc Stainless

1120039
1113255
1119976 1119976

1113255
1129143

3
3.1

3.4
3.3
3.2

3.6
3.5

1123456
1114776

1123456
1111747

1
1

1
1

1

1
1

DIVERT 1R CED CURVED GATE KIT

DIVERT 1R SPACER WASHER
DIVERT PIVOT PIN 2 ASSY

3/4-10 NYLOCK NUT

DIVERT WASHER

DIVERT BUSHING 2

DIVERT 1R CED CURVED GATE ASSY

2.1
2.2
2.3
2.4
2.5

DIVERT 1R STRAIGHT GATE ASSY
DIVERT PIVOT PIN 1 ASSY

DIVERT SPRING 1
3/8-16 NYLOCK NUT

DIVERT BUSHING

1
1
1
1
1

2

Item 
No. Description

1 1116289 1125513DIVERT 1R LVL STRAIGHT GATE KIT

1111266
1129007
1123242
1121904

1123894
1119766
1129536
1123242
1122813

1123894

StainlessZincQTY

3.7 DIVERT BUSHING 4 1 1111525 1111525

Item 
No. Description QTY Zinc Stainless

111569611156961SWITCH CYLINDER4

SWITCH CYLINDER NOT INCLUDED IN COM KIT



DIVERT 1R CEU COM KIT
(CURVED GATE AND STRAIGHT GATE KITS)

CYLINDER NOT INCLUDED

Item 
No. Description QTY Zinc Stainless

1 11256641

HERCULES

MANUFACTURED BY:                        .COM
PHONE: 1-877-873-5858    FAX: 1-712-224-560444

®
D

IV
E

R
T

DIVERT 1R CEU RAIL SWITCH                                    D1R*U************

1129298 1125177

1121935 1120764
1125752

Item 
No. Description QTY Zinc Stainless

1120039
1113255
1119976 1119976

1113255
1129143

3
3.1

3.4
3.3
3.2

3.6
3.5

1123456
1114776

1123456
1111747

1
1

1
1

1

1
1

DIVERT 1R CEU CURVED GATE KIT

DIVERT 1R SPACER WASHER
DIVERT PIVOT PIN 2 ASSY

3/4-10 NYLOCK NUT

DIVERT WASHER

DIVERT BUSHING 2

DIVERT 1R CEU CURVED GATE ASSY

2.1
2.2
2.3
2.4
2.5

DIVERT 1R STRAIGHT GATE ASSY
DIVERT PIVOT PIN 1 ASSY

DIVERT SPRING 1
3/8-16 NYLOCK NUT

DIVERT BUSHING

1
1
1
1
1

2

Item 
No. Description

1 1116289 1125513DIVERT 1R LVL STRAIGHT GATE KIT

1111266
1129007
1123242
1121904

1123894
1119766
1129536
1123242
1122813

1123894

StainlessZincQTY

3.7 DIVERT BUSHING 4 1 1111525 1111525

Item 
No. Description QTY Zinc Stainless

111569611156961SWITCH CYLINDER4

SWITCH CYLINDER NOT INCLUDED IN COM KIT



DIVERT 1L LVL COM KIT
(CURVED GATE AND STRAIGHT GATE KITS)

CYLINDER NOT INCLUDED

Item 
No. Description QTY Zinc Stainless

1 11284201

HERCULES

MANUFACTURED BY:                        .COM
PHONE: 1-877-873-5858    FAX: 1-712-224-5604 45

®

D
IV

E
R

T

DIVERT 1L LEVEL RAIL SWITCH                                 D1L*L************

1112407 1111195

1121103 1118208
1117840

Item 
No. Description QTY Zinc Stainless

1120039
1129878
1119976 1119976

1129878
1129143

3
3.1

3.4
3.3
3.2

3.6
3.5

1123456
1114776

1123456
1111747

1
1

1
1

1

1
1

DIVERT 1L LVL CURVED GATE KIT

DIVERT 1L SPACER WASHER
DIVERT PIVOT PIN 2 ASSY

3/4-10 NYLOCK NUT

DIVERT WASHER

DIVERT BUSHING 2

DIVERT 1L LVL CURVED GATE ASSY

2.1
2.2
2.3
2.4
2.5

DIVERT 1L STRAIGHT GATE ASSY
DIVERT PIVOT PIN 1 ASSY

DIVERT SPRING 1
3/8-16 NYLOCK NUT

DIVERT BUSHING

1
1
1
1
1

2

Item 
No. Description

1 1120790 1127990DIVERT 1L LVL STRAIGHT GATE KIT

1111266
1129007
1123242
1119681

1123894
1119766
1129536
1123242
1119346

1123894

StainlessZincQTY

3.7 DIVERT BUSHING 4 1 1111525 1111525

Item 
No. Description QTY Zinc Stainless

111569611156961SWITCH CYLINDER4

SWITCH CYLINDER NOT INCLUDED IN COM KIT



DIVERT 1L CED COM KIT
(CURVED GATE AND STRAIGHT GATE KITS)

CYLINDER NOT INCLUDED

Item 
No. Description QTY Zinc Stainless

1 11158671

HERCULES

MANUFACTURED BY:                        .COM
PHONE: 1-877-873-5858    FAX: 1-712-224-560446

®
D

IV
E

R
T

DIVERT 1L CED RAIL SWITCH                                     D1L*D************

1129953 1123393

1121871 1113450
1118979

Item 
No. Description QTY Zinc Stainless

1120039
1129878
1119976 1119976

1129878
1129143

3
3.1

3.4
3.3
3.2

3.6
3.5

1123456
1114776

1123456
1111747

1
1

1
1

1

1
1

DIVERT 1L CED CURVED GATE KIT

DIVERT 1L SPACER WASHER
DIVERT PIVOT PIN 2 ASSY

3/4-10 NYLOCK NUT

DIVERT WASHER

DIVERT BUSHING 2

DIVERT 1L CED CURVED GATE ASSY

2.1
2.2
2.3
2.4
2.5

DIVERT 1L STRAIGHT GATE ASSY
DIVERT PIVOT PIN 1 ASSY

DIVERT SPRING 1
3/8-16 NYLOCK NUT

DIVERT BUSHING

1
1
1
1
1

2

Item 
No. Description

1 1120790 1127990DIVERT 1L LVL STRAIGHT GATE KIT

1111266
1129007
1123242
1119681

1123894
1119766
1129536
1123242
1119346

1123894

StainlessZincQTY

3.7 DIVERT BUSHING 4 1 1111525 1111525

Item 
No. Description QTY Zinc Stainless

111569611156961SWITCH CYLINDER4

SWITCH CYLINDER NOT INCLUDED IN COM KIT



DIVERT 1L CEU COM KIT
(CURVED GATE AND STRAIGHT GATE KITS)

CYLINDER NOT INCLUDED

Item 
No. Description QTY Zinc Stainless

1 11195151

HERCULES

MANUFACTURED BY:                        .COM
PHONE: 1-877-873-5858    FAX: 1-712-224-5604 47

®

D
IV

E
R

T

DIVERT 1L CEU RAIL SWITCH                                    D1L*U************

1128691 1127549

1114520 1111548
1114681

Item 
No. Description QTY Zinc Stainless

1120039
1129878
1119976 1119976

1129878
1129143

3
3.1

3.4
3.3
3.2

3.6
3.5

1123456
1114776

1123456
1111747

1
1

1
1

1

1
1

DIVERT 1L CEU CURVED GATE KIT

DIVERT 1L SPACER WASHER
DIVERT PIVOT PIN 2 ASSY

3/4-10 NYLOCK NUT

DIVERT WASHER

DIVERT BUSHING 2

DIVERT 1L CEU CURVED GATE ASSY

2.1
2.2
2.3
2.4
2.5

DIVERT 1L STRAIGHT GATE ASSY
DIVERT PIVOT PIN 1 ASSY

DIVERT SPRING 1
3/8-16 NYLOCK NUT

DIVERT BUSHING

1
1
1
1
1

2

Item 
No. Description

1 1120790 1127990DIVERT 1L LVL STRAIGHT GATE KIT

1111266
1129007
1123242
1119681

1123894
1119766
1129536
1123242
1119346

1123894

StainlessZincQTY

3.7 DIVERT BUSHING 4 1 1111525 1111525

Item 
No. Description QTY Zinc Stainless

111569611156961SWITCH CYLINDER4

SWITCH CYLINDER NOT INCLUDED IN COM KIT



DIVERT 2R LEVEL COM KIT
(CURVED GATE AND STRAIGHT GATE KITS)

CYLINDER NOT INCLUDED

Item 
No. Description QTY Zinc Stainless

1 11184081

HERCULES

MANUFACTURED BY:                        .COM
PHONE: 1-877-873-5858    FAX: 1-712-224-560448

®
D

IV
E

R
T

DIVERT 2R LEVEL RAIL SWITCH                                     D2R*L*********  

1129843 1125032

1111619 1124744
1129636

Item 
No. Description QTY Zinc Stainless

1119976

1120039
1120938 1120938

1129143

1119976

3
3.1

3.4
3.3
3.2

3.6
3.5

1123456
1114776

1123456
1111747

1
1

1
1

1

1
1

DIVERT 2R LVL STRAIGHT GATE KIT

DIVERT 2R SPACER WASHER 2
DIVERT PIVOT PIN 2 ASSY

3/4-10 NYLOCK NUT
DIVERT WASHER

DIVERT BUSHING 2

DIVERT 2R LVL STRAIGHT GATE ASSY

2.1
2.2
2.3
2.4
2.5

DIVERT 2R CURVED GATE ASSY
DIVERT PIVOT PIN 1 ASSY

DIVERT SPRING 1
3/8-16 NYLOCK NUT

DIVERT BUSHING

1
1
1
1
1

2

Item 
No. Description

1 1116222 1121691DIVERT 2R LVL CURVED GATE GATE KIT

1111266
1129007
1123242
1127125

1123894
1119766
1129536
1123242
1116837

1123894

StainlessZincQTY

3.7 DIVERT BUSHING 4 1 1111525 1111525

Item 
No. Description QTY Zinc Stainless

111569611156961SWITCH CYLINDER4

SWITCH CYLINDER NOT INCLUDED IN COM KIT

02/27/17



DIVERT 2R CED COM KIT
(CURVED GATE AND STRAIGHT GATE KITS)

CYLINDER NOT INCLUDED

Item 
No. Description QTY Zinc Stainless

1 11260751

HERCULES

MANUFACTURED BY:                        .COM
PHONE: 1-877-873-5858    FAX: 1-712-224-5604 49

®

D
IV

E
R

T

DIVERT 2R CED RAIL SWITCH                                         D2R*D*********  

1119426 1125244

1128926 1119200
1119202

Item 
No. Description QTY Zinc Stainless

1119976

1120039
1120938 1120938

1129143

1119976

3
3.1

3.4
3.3
3.2

3.6
3.5

1123456
1114776

1123456
1111747

1
1

1
1

1

1
1

DIVERT 2R CED STRAIGHT GATE KIT

DIVERT 2R SPACER WASHER 2
DIVERT PIVOT PIN 2 ASSY

3/4-10 NYLOCK NUT
DIVERT WASHER

DIVERT BUSHING 2

DIVERT 2R CED STRAIGHT GATE ASSY

2.1
2.2
2.3
2.4
2.5

DIVERT 2R CURVED GATE ASSY
DIVERT PIVOT PIN 1 ASSY

DIVERT SPRING 1
3/8-16 NYLOCK NUT

DIVERT BUSHING

1
1
1
1
1

2

Item 
No. Description

1 1116222 1121691DIVERT 2R LVL CURVED GATE GATE KIT

1111266
1129007
1123242
1127125

1123894
1119766
1129536
1123242
1116837

1123894

StainlessZincQTY

3.7 DIVERT BUSHING 4 1 1111525 1111525

Item 
No. Description QTY Zinc Stainless

111569611156961SWITCH CYLINDER4

SWITCH CYLINDER NOT INCLUDED IN COM KIT



DIVERT 2R CEU COM KIT
(CURVED GATE AND STRAIGHT GATE KITS)

CYLINDER NOT INCLUDED

Item 
No. Description QTY Zinc Stainless

1 11130371

HERCULES

MANUFACTURED BY:                        .COM
PHONE: 1-877-873-5858    FAX: 1-712-224-560450

®
D

IV
E

R
T

DIVERT 2R CEU RAIL SWITCH                                         D2R*U*********  

1122493 1111890

1126734 1128906
1121415

Item 
No. Description QTY Zinc Stainless

1119976

1120039
1120938 1120938

1129143

1119976

3
3.1

3.4
3.3
3.2

3.6
3.5

1123456
1114776

1123456
1111747

1
1

1
1

1

1
1

DIVERT 2R CEU STRAIGHT GATE KIT

DIVERT 2R SPACER WASHER 2
DIVERT PIVOT PIN 2 ASSY

3/4-10 NYLOCK NUT
DIVERT WASHER

DIVERT BUSHING 2

DIVERT 2R CEU STRAIGHT GATE ASSY

2.1
2.2
2.3
2.4
2.5

DIVERT 2R CURVED GATE ASSY
DIVERT PIVOT PIN 1 ASSY

DIVERT SPRING 1
3/8-16 NYLOCK NUT

DIVERT BUSHING

1
1
1
1
1

2

Item 
No. Description

1 1116222 1121691DIVERT 2R LVL CURVED GATE GATE KIT

1111266
1129007
1123242
1127125

1123894
1119766
1129536
1123242
1116837

1123894

StainlessZincQTY

3.7 DIVERT BUSHING 4 1 1111525 1111525

Item 
No. Description QTY Zinc Stainless

111569611156961SWITCH CYLINDER4

SWITCH CYLINDER NOT INCLUDED IN COM KIT

02/27/17



DIVERT 2L LVL COM KIT
(CURVED GATE AND STRAIGHT GATE KITS)

CYLINDER NOT INCLUDED

Item 
No. Description QTY Zinc Stainless

1 11146701

HERCULES

MANUFACTURED BY:                        .COM
PHONE: 1-877-873-5858    FAX: 1-712-224-5604 51

®

D
IV

E
R

T

DIVERT 2L LEVEL RAIL SWITCH                                      D2L*L*********  

1123861 1129590

1117328 1125216
1114923

Item 
No. Description QTY Zinc Stainless

1119976

1120039
1122565 1122565

1129143

1119976

3
3.1

3.4
3.3
3.2

3.6
3.5

1123456
1114776

1123456
1111747

1
1

1
1

1

1
1

DIVERT 2L LVL STRAIGHT GATE KIT

DIVERT 2L SPACER WASHER 2
DIVERT PIVOT PIN 2 ASSY

3/4-10 NYLOCK NUT
DIVERT WASHER

DIVERT BUSHING 2

DIVERT 2L LVL STRAIGHT GATE ASSY

2.1
2.2
2.3
2.4
2.5

DIVERT 2L CURVED GATE ASSY
DIVERT PIVOT PIN 1 ASSY

DIVERT SPRING 1
3/8-16 NYLOCK NUT

DIVERT BUSHING

1
1
1
1
1

2

Item 
No. Description

1 1114226 1129585DIVERT 2L LVL CURVED GATE GATE KIT

1111266
1129007
1123242
1118951

1123894
1119766
1129536
1123242
1118003

1123894

StainlessZincQTY

3.7 DIVERT BUSHING 4 1 1111525 1111525

Item 
No. Description QTY Zinc Stainless

111569611156961SWITCH CYLINDER4

SWITCH CYLINDER NOT INCLUDED IN COM KIT



DIVERT 2L CED COM KIT
(CURVED GATE AND STRAIGHT GATE KITS)

CYLINDER NOT INCLUDED

Item 
No. Description QTY Zinc Stainless

1 11137811

HERCULES

MANUFACTURED BY:                        .COM
PHONE: 1-877-873-5858    FAX: 1-712-224-560452

®
D

IV
E

R
T

DIVERT 2L CED RAIL SWITCH                                          D2L*D*********  

1123877 1117048

1112209 1128605
1126951

Item 
No. Description QTY Zinc Stainless

1119976

1120039
1122565 1122565

1129143

1119976

3
3.1

3.4
3.3
3.2

3.6
3.5

1123456
1114776

1123456
1111747

1
1

1
1

1

1
1

DIVERT 2L CED STRAIGHT GATE KIT

DIVERT 2L SPACER WASHER 2
DIVERT PIVOT PIN 2 ASSY

3/4-10 NYLOCK NUT
DIVERT WASHER

DIVERT BUSHING 2

DIVERT 2L CED STRAIGHT GATE ASSY

2.1
2.2
2.3
2.4
2.5

DIVERT 2L CURVED GATE ASSY
DIVERT PIVOT PIN 1 ASSY

DIVERT SPRING 1
3/8-16 NYLOCK NUT

DIVERT BUSHING

1
1
1
1
1

2

Item 
No. Description

1 1114226 1129585DIVERT 2L LVL CURVED GATE GATE KIT

1111266
1129007
1123242
1118951

1123894
1119766
1129536
1123242
1118003

1123894

StainlessZincQTY

3.7 DIVERT BUSHING 4 1 1111525 1111525

Item 
No. Description QTY Zinc Stainless

111569611156961SWITCH CYLINDER4

SWITCH CYLINDER NOT INCLUDED IN COM KIT



DIVERT 2L CEU COM KIT
(CURVED GATE AND STRAIGHT GATE KITS)

CYLINDER NOT INCLUDED

Item 
No. Description QTY Zinc Stainless

1 11126641

HERCULES

MANUFACTURED BY:                        .COM
PHONE: 1-877-873-5858    FAX: 1-712-224-5604 53

®

D
IV

E
R

T

DIVERT 2L CEU RAIL SWITCH                                      D2L*U*********  

1128984 1123326

1124771 1128959
1115485

Item 
No. Description QTY Zinc Stainless

1119976

1120039
1122565 1122565

1129143

1119976

3
3.1

3.4
3.3
3.2

3.6
3.5

1123456
1114776

1123456
1111747

1
1

1
1

1

1
1

DIVERT 2L CEU STRAIGHT GATE KIT

DIVERT 2L SPACER WASHER 2
DIVERT PIVOT PIN 2 ASSY

3/4-10 NYLOCK NUT
DIVERT WASHER

DIVERT BUSHING 2

DIVERT 2L CEU STRAIGHT GATE ASSY

2.1
2.2
2.3
2.4
2.5

DIVERT 2L CURVED GATE ASSY
DIVERT PIVOT PIN 1 ASSY

DIVERT SPRING 1
3/8-16 NYLOCK NUT

DIVERT BUSHING

1
1
1
1
1

2

Item 
No. Description

1 1114226 1129585DIVERT 2L LVL CURVED GATE GATE KIT

1111266
1129007
1123242
1118951

1123894
1119766
1129536
1123242
1118003

1123894

StainlessZincQTY

3.7 DIVERT BUSHING 4 1 1111525 1111525

Item 
No. Description QTY Zinc Stainless

111569611156961SWITCH CYLINDER4

SWITCH CYLINDER NOT INCLUDED IN COM KIT



HERCULES

MANUFACTURED BY:                        .COM
PHONE: 1-877-873-5858    FAX: 1-712-224-560454

®
D

IV
E

R
T

NOTES  



MANUFACTURED BY:                        .COM
PHONE: 1-877-873-5858    FAX: 1-712-224-5604

SINGLE GATE FEEDOUT SWITCH SECTION

S
IN

G
LE

 G
A

T
E

S1R*L************

S2R*L************

S1L*L************

56

57

58

Switch Description Page
Switch    
Layout

55



HERCULES

MANUFACTURED BY:                        .COM
PHONE: 1-877-873-5858    FAX: 1-712-224-560456

®
S

IN
G

LE
 G

A
T

E

SINGLE GATE FEEDOUT 1R LEVEL RAIL SWITCH     S1R*L************

1124514 1124514

1127884 1125463

Item 
No. Description QTY Zinc Stainless

1119930

1113166

1113871 1118887

1114252

1119153

1

1.1

1.4
1.3
1.2

1.6
1.5

1114794

1125169

1111669

1112646

1

1

1
1

1

1
1

SINGLE GATE FEEDOUT 1R COM KIT

SINGLE GATE FEEDOUT THREADED ROD
BALL JOINT ROD END

3/8” FLAT WASHER

DIVERT SPRING 1

5/16-24 JAM NUT

AUTOMATIC HEX BUSHING 2
AUTOMATIC HEX BUSHING 1

SINGLE GATE FEEDOUT 1R CURVED GATE 
ASSY

AUTOMATIC PIVOT PIN 1

1
1
1

1112039
1115907

1128868
1115681
1118130

1124685

1.7

5/16-24 TOP LOCK JAM NUT

1
1129007 1129536

1.10
1.9
1.8



HERCULES

MANUFACTURED BY:                        .COM
PHONE: 1-877-873-5858    FAX: 1-712-224-5604 57

®

S
IN

G
LE

 G
A

T
E

SINGLE GATE FEEDOUT 1L LEVEL RAIL SWITCH      S1L*L************

1124514 1124514

1123892 1123590

Item 
No. Description QTY Zinc Stainless

1119930

1126190

1113871 1118887

1112796

1119153

1

1.1

1.4
1.3
1.2

1.6
1.5

1114794

1125169

1111669

1112646

1

1

1
1

1

1
1

SINGLE GATE FEEDOUT 1L COM KIT

SINGLE GATE FEEDOUT THREADED ROD
BALL JOINT ROD END

3/8” FLAT WASHER

DIVERT SPRING 1

5/16-24 JAM NUT

AUTOMATIC HEX BUSHING 2
AUTOMATIC HEX BUSHING 1

SINGLE GATE FEEDOUT 1L CURVED GATE 
ASSY

AUTOMATIC PIVOT PIN 1

1
1
1

1112039
1115907

1128868
1115681
1118130

1124685

1.7

5/16-24 TOP LOCK JAM NUT

1
1129007 1129536

1.10
1.9
1.8



HERCULES

MANUFACTURED BY:                        .COM
PHONE: 1-877-873-5858    FAX: 1-712-224-560458

®
S

IN
G

LE
 G

A
T

E

SINGLE GATE FEEDOUT 2R LEVEL RAIL SWITCH     S2R*L************

1124514 1124514

1116408 1119892

Item 
No. Description QTY Zinc Stainless

1119930

1126290

1113871 1118887

1121582

1119153

1

1.1

1.4
1.3
1.2

1.6
1.5

1114794

1125169

1111669

1112646

1

1

1
1

1

1
1

SINGLE GATE FEEDOUT 2R COM KIT

SINGLE GATE FEEDOUT THREADED ROD
BALL JOINT ROD END

3/8” FLAT WASHER

DIVERT SPRING 1

5/16-24 JAM NUT

AUTOMATIC HEX BUSHING 2
AUTOMATIC HEX BUSHING 1

SINGLE GATE FEEDOUT 2R CURVED GATE 
ASSY

AUTOMATIC PIVOT PIN 1

1
1
1

1112039
1115907

1128868
1115681
1118130

1124685

1.7

5/16-24 TOP LOCK JAM NUT

1
1129007 1129536

1.10
1.9
1.8



MANUFACTURED BY:                        .COM
PHONE: 1-877-873-5858    FAX: 1-712-224-5604

CUT THROUGH SWITCH SECTION

C
U

T
 T

H
R

O
U

G
H

C0X*L************ 60

Switch Description Page
Switch    
Layout

59



HERCULES

MANUFACTURED BY:                        .COM
PHONE: 1-877-873-5858    FAX: 1-712-224-560460

®
C

U
T

 T
H

R
O

U
G

H

CUT THROUGH 0X LEVEL RAIL SWITCH                    C0X*L************

1120508 1128183

1111282 1121997

Item 
No. Description QTY Zinc Stainless

1119554
1128515

1124585 1124585

1112482
1115549

2
2.1

2.4
2.3
2.2

2.6
2.5

1123390

1125019

1112691

1129394

1
1

1
1

1

1
1

CUT THROUGH ROCKER ARM COM KIT

SWITCH TURNBUCKLE ROD 12”
1/2-13 TOP LOCK NUT

5/16-24 JAM NUT

BALL JOINT END LEFT

5/16-24 JAM NUT LH

BALL JOINT END RIGHT
CUT THROUGH ROCKER ARM 1R ASSY

CUT THROUGH ROCKER ARM 2 ASSY
CUT THROUGH ROCKER ARM 1L ASSY

1
1
1

1126524
1112039

1128868
1129776
1124685

1124685

2.7

5/16-24 TOP LOCK JAM NUT

1
1129416 1112711

2.10
2.9
2.8

Item 
No. Description QTY Zinc Stainless

1 CUT THROUGH GATE ASSY KIT 1 1115730 1111240

1.1
1.2
1.3
1.4
1.5

CUT THROUGH ROCKER GATE RIGHT ASSY
CUT THROUGH ROCKER GATE LEFT ASSY

AUTOMATIC PIVOT PIN 1
AUTOMATIC HEX BUSHING 1
AUTOMATIC HEX BUSHING 2

1
1
1
1
1

1125423
1121849
1119930
1125169
1124514

1124844
1129273
1119153
1112646
1124514

3
4

SWITCH TURNBUCKLE ROD
SWITCH TURNBUCKLE ROD

“A” = BRIDGE HEIGHT MINUS 8”
“A” = BRIDGE HEIGHT MINUS 5”

SEE INSIDE OF BACK COVER FOR SWITCH 
TURNBUCKLE ROD LENGTH CHARTDescriptionItem 

No.

SWITCH TURNBUCKLE ROD NOT INCLUDED WITH KIT



MANUFACTURED BY:                        .COM
PHONE: 1-877-873-5858    FAX: 1-712-224-5604

TROLLEY TURN AROUND SWITCH SECTION

TROLLEY TURN AROUND 62

Switch Description Page

T
R

O
LL

E
Y

 T
U

R
N

 
A

R
O

U
N

D

61



HERCULES

MANUFACTURED BY:                        .COM
PHONE: 1-877-873-5858    FAX: 1-712-224-560462

®
T

R
O

LL
E

Y
 T

U
R

N
 

A
R

O
U

N
D

TROLLEY TURN AROUND

1114167 1112689

1120189 1120189

Item 
No. Description QTY Zinc Stainless

1126179 1119599

2

2.2

2.1

2.3

1123999 1123999

1

1

1

TROLLEY TURN AROUND TRACK     
ROLLER COM KIT

TROLLEY TURN AROUND TRACK ROLLER 
PART 2 ASSY

GEAR TROLLEY STOP PIN 1
3/8-16x2 1/2” HEX HEAD BOLT

TROLLEY TURN AROUND TRACK ROLLER 
PART 1 ASSY

TROLLEY TURN AROUND TRACK ROLLER

1
2
2

1122620
1115833

1111266
1119633
1126884

11228413/8-16 NYLOCK NUT

1

2.6
2.5
2.4

Item 
No. Description QTY Zinc Stainless

1 TROLLEY TURN AROUND GATE      
COM KIT 1 1126241 1120410

1.4

1.1
1.2

1.3

3/4” LOCK WASHER

TROLLEY TURN AROUND .75-10 x 12” 
THREADED ROD

TROLLEY TURN AROUND GATE ASSY

3/4” FLAT WASHER

TROLLEY TURN AROUND BEARING

1

2

1
2

1

1113291

1123437

1117230
1112480

1118237

1112809

1125841

1116148
1112480

1124383
3/4-10 HEX NUT

3/4-10 NYLOCK NUT
1
1

1120900
1114776

1121682
1124318

1.5
1.6
1.7



HERCULES

MANUFACTURED BY:                        .COM
PHONE: 1-877-873-5858    FAX: 1-712-224-5604 63

®

T
U

R
N

B
U

C
K

LE
S

SWITCH TURNBUCKLE ROD CHART

19 3/4” AND 20 5/8”

18 3/4” AND 19 5/8”

17 3/4” AND 18 5/8”

16 3/4” AND 17 5/8”

15 3/4” AND 16 5/8”

14 3/4” AND 15 5/8”

13 3/4” AND 14 5/8”

12 3/4” AND 13 5/8”

8 3/4” AND 9 5/8”

9 3/4” AND 10 5/8”

10 3/4” AND 11 5/8”

11 3/4” AND 12 5/8”

3 3/4” AND 4 5/8”

4 3/4” AND 5 5/8”

5 3/4” AND 6 5/8”

6 3/4” AND 7 5/8”

7 3/4” AND 8 5/8”

2 3/4” AND 3 5/8”

1 3/4” AND 2 5/8” 2”

3”

4”

5”

6”

7”

8”

9”

10”

17”

20”

18”

14”

13”

16”

19”

15”

12”

11”

1112357

1113071

1121111

1127821

1129556

1119823

1128885

1121508

1115621

1111560

1126947

1117331

1119287

1128369

1126385

1122327

1124585

1115206

1125198

IF DIMENSION “A” IS 
BETWEEN: SWITCH TURNBUCKLE ROD LENGTH PART

NUMBER

Switch Turnbuckle Rod selection procedure

Determine the Switch you have from the parts pages.

In the section labeled Switch Turnbuckle Rod, determine the Switch Turnbuckle Rod to be replaced.

Use the formula to determine the range of the Switch Turnbuckle Rod to be replaced.

Look at the Range column above to order Switch Turnbuckle Rod that best matches the
length determined previously.

USE CHART IN COMBINATION WITH PARTS PAGE




	Covers - Switches.pdf
	Switches Catalog - 2017 Update.pdf
	Covers - Catalog Back.pdf

